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EXAM II
CALCULUS AB
SECTION I PART A
Time~-55 minutes
Number of questions-28

A CALCULATOR MAY NOT BE USED ON THIS PART OF THE EXAMINATION

Directions: Solve each of the following problems, using the available space for scratchwork. After éxamining
the form of the choices, decide which is the best of the choices given and fill in the box. Do not spend too much
time on any one problem.

In this test:

(1) Unless otherwise specified, the domain of a function f is assumed to be the set of all real numbers x for which
v f(x) is a real number. ;

(2 Theinverse of a trigondmetric function f may be indicated using the inverse function notation f ~1 or with the

. =1 .
prefix “arc” (e.g., sin x = arcsinx ),

1. Let f(x) =4x®-3x-1. An equation of the line tangentto y = f(x) atx = 2is

@ y=255-5  L0)= 4(2).3(2)-| < 32-4-[< 14
I S N P N T
Oly=t5x=65  Lya)erapay-3= 45

peint: (2,25) | y-25= 45(x-)
;S/"fe-: m=45 j.,-«25'=95x~7t?

‘ ’ * ¥ A b iy i H S % - KA T A
: S : 5o L . . e L .
o A g 0 i -y P S N
VRN ¢ : 3 P i #
i el e ! i@ [E5! 2 ) Fa oo
b5 i vi g1 Ee i { fiz i
it § ] b B It

(D) y = 65— 45x

(E) y=65x-45

- L ‘ Ans
( | ;‘ 4 .‘fS“x.. 65 cl.
. _ t-sub '
2. [sinfr)dx =
0 E b
2 1 : 2 1
iwﬁ ®;  ©0 @) -2 C® -7
| L |
=T fSMW "'?:x_ﬂ: sy |
T
_ | L |
é——&: T 1L = Cos (1x)
JQL{ T SmuyeuL o
Ax= 22 B ’
\ s () -(';T—cogo) A;}s
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EXAM Il Section] Part A Multiple-Choice @
A | el » , @
3l (cos(x + h) — cos x)___ ot ><~‘oosx I L'ty f'.m - 53-(5(#1) + 0 o
h—0 h & 1>} Aq o I o
(A) sinx ' | Ql
(®)] -sinx .v . .
: S l 4 T
(C) cosx. " (Y‘H?) g;
(D) —cosx —__ S'/’ﬂ)( G‘
— - ,'} i
(E) does not exist o
- C
{8 &
- 4. On which of the following intervals, is the graph of the curve y = x° — 5x* + 10x + 15 (o
concave up ? ) ¥ conc, (,-rka\ G-
L x<0 L 0<x<3  IL x>3 5"“(‘“")“* “f
. 1 » ) > o -
(A) Ionly - 4 32 , fl
= OXx -0 ,
(B) I only ] 3‘Q Ao N k;j}
(C) |11 only j "o Aox-40OX° 9 -
(D) Iand II only (4] 3

g™

€ HandMonly O <= 20x*(X-3)
X=0,3

Concave 070 W‘K&*\ ‘)(73

Ans

T

5.  The region bounded by the x-axis and the part of the graph of y = sin x between x = 0

and x = ® is separated into two regions by the line x = k. If the area of the region for
0 < x < k is one-third the area of the region for k < x < w,then k = -

/4 J\.n . i
Aréa = ’ = ,
) smx:}x = '@SX'] - ‘MSCF{J"-(;(,’;oso)

(A) arcsin%

tos]
l

NNONNOOaQa o000 000

FB) arcsin% ° _ L4 =,
© % K |
(D) r J S;V\X.JX - .i. ‘ | . -
i Y% FR ~cos kK= ~-_
B k 2
- ] (=
OS5 X
. g/
B =
L =
\L Ans f—
( XX 4 2 D [
2 33 : @/
\ qx - 6 Copyright 2008 Venture Publishing /\J E »
e - j
\\_‘»_ b 5

AR .
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6. A particle starts at time ¢ = 0 and moves along a number line so that its position, at time

z>5 - \/(%) -2y [3({ -£) + (4 ;,)] ¢

t20,is given by x(t) = (¢ - 2)3(t, 6). The particle i is moving to the right for

V% u r ‘
@) 0<t<5 *(JC”’)"*”’J‘“““‘ T when X(B)= Sv(*) >0
(B) 2<t<6 v 3(1“'2)({ O*({ g)()

. :2 ter
D t20 ,
| (E) never ‘_({’2) [3'{’19‘1'(322' ,L" . - +
V(f):(f'gjz[sz*zo] -
\/(f)*—: (‘f-ﬂ)l 4({ 5) v({) o then {A:g-

7.  Anantiderivative of (x2 —1)? is J(x 4) 0?)( — foﬂj +hen /mwer Vw(@

7 l (E)!1 3 2x3+x+C K | |

@) -1’ +c
1x5—x+ 2
(B) 38 -x+C S(X'%)CX -l)éb(
(©) 4x(x*-D+C
@ &&= +c X‘*_ i+l dAx

U=

A
ﬂ..

Ax =

dx = u‘.&'“é:‘ u:+&n){
w4 - ' ’

] @hB ®-b3 ©ObvZ ©®B-1  ® hi-hl
'éﬂ/\ )( 0‘5';(/)( 00(,( ¥®@V&+ égu I_;‘
N “ ‘%‘ I'FX‘ 4“ '/Lan(/f)"‘f
sec Ty T st (%) =3
Au ’

2,
g

= ;dh& —_— jm/”{] =/n/§—/ﬂ«f

=Ahl3-0 @ Vs
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28 EXAM Il Section I Part A | ‘ Multiple-Choice R
9. Whatis lim - I COMWOQ?J s é/'é "“""f’“ﬁr wrdl 4&’.'9% v
oe2+x43D b« | (\?

(A) -3 ®) -3 © 3 D) 2 (E) The limit does not exist. —

o

1 &

=3 s

o

Ans -

M -

o

1

10. Z\/xz —4x+4 di is: y\/m&y T Jmﬂx ‘_
A) 1

- X = CQ = x" : N
o K i z-ix] > $-4-(o- °>

EZ)) Iioné of the above _’_M ‘ o / (Q 4( E
2+2 _E D

i

N NS

SATLRTER TS ; DAY YA«

.1i. If g(x) = ;—;—% then g'(2) = |
@1 ¥'Z% Hioat rule | - E
' ® : ) = 0)(X+z) (¥~2)('

= X+2-=X+2

(i

J~:>
i1 |
I+

©® -3
C)H—Q)"
E) O )
9 ()= 4
(42)>

Oz
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12. Which of the following is the solution to the differential equatlon iiX = y?, where {) f in ( -1 )

y-D=1? ij - 3

. -1
A) y= forx¢0 E - X* C i
.y——— forx<0 i 0()( | a{'- §~><
©) y-'--— for x>0 e Tt l+C" “l=ux

D) y=% forx>0 -2 <=+ -
Y= J}j d chx ‘ C' *x'q:j .

X
- (EB) y= ch forx<0

o=C :
—}- X+c | %n
13. The fourth denvatlve of f(x) = (2x 3)4 is o | |
(]2 )= (2x-3)f
(B) 24(2°) { ’(y) :Q(Qxd)z[,ﬁ)
©) 24(2x-3) | {:"[x):}l,t. 3 (2x~332(2 )
D) 24(2°) L7060 = 2243y Qx-?j( 2)
®o F /X) ”2 &2 432(&) . '
| 3 = a4(2) B
14 'If'[f(x)dx 6, thenj(f(x)+3)dx- /pow.er"“&
®3 jwc(xﬁa& +J 3dx
B) 6
©) 9 , | B
12 = ¢ —+ 3)(]1 = 3(‘*)"’3‘(2)‘
E) 15 : = 12 "'é =/
' Ans
£ +¢ =lia| O
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. o

)

15. The slopé ‘of the tangent line to the curve 2xy +siny = 27 at the point where y = 7t is
! (A)R—zn ' Vl'mlsf"o'-l a(/wpfmilo'a%’w )fﬂ’»ﬂ“d rule ("’""+: x(n ) tsimm =3 dv
| J | Zemrosan
B) - i
o 1 (4
(©) 0 =

D) :/il(o?x*@S/é) =-2 P‘)'h“.h‘(/jn‘)

® 2w Ay -2y
d‘X “2x+ws%

»ﬁv / AT |

- - - '_,Qi - ' o Ans
oy Q?T) R+eosT 5, @ . » H
16. If f(x) = €** and g(x) = Inx, then the derivative of y = f(g(x)) at x = e is

) ¢ sk chain cile fhye law)= L
®B) 262 j—:’ffj&)] { c N ) X

@I 2e 7’: wc'fj(xﬂ ’jj(’()

=

BN

i 3
3 e N

D) 2 .
(E) undefined j'(e):'P)[j(@]‘j}(ef)
y(e)'.: 'p,(l) ‘ é
=3¢ L =fg] | | C

17. The area of the region bounded by the lines x = 1 and y = 0 and the curve y = xe* is

: /
[ e ~

@]e—l dx o
(D)I"Te f%e-._“_’_ | @

e
E) 7

anonoddnnne
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18. Ifh(x)=("-4" +1, thenthevalueof K(2)is
) A3 ¥ chain rle /;)/52) - 3(‘2)

- ' Y/

- e =20 ()
y i ©O1 :

-

-

-

il : . (E) does not exist

D) 0 VAR |
| /\/x).mq

Ans
E
19. The derivative of +/x ~ is # f) ower rule . |
. XNX 4/2 1 /2 J
= (&) 35— x4 RTINS TN T
‘Q E 1 V2 L4 A - -4
© %x-uz _ %x—us , ‘ _~,/z 4 A
1, 4 a XX T 3%
i Q o (D) __Ex—IIZ + _3_x‘—7/3 ‘ N E : ;’/~____,_]
. SR i A |
e \\VJ ) _ (E) _Ex—lll._ _3_ x—1/3 j s z X + L X
e B
i Q ]
=2 20. The function f is continuous at x = 1.
;;g . a «/J;+3x—«1/3x+1 for x %1
=) : If f(x)= |
ok for x=1 .
: then k =
N (A0 ®B) 1 © ; [(D)/ -2 (E) none of the above

) fm ‘}"'*3"@9.};:;*)%:1’ )«({*’?'(Xz)z" : 9[1/4
= Yol =l Jexs +T5me xb) 7y +F'"3x+} B [T ]

. /ﬂm (X'f3) (BK*') —> x+3- 3K~ S — ':'.._f...-“_/ Bh
e ¥ — VI +Ja

\ RN R _

J g ~ Copyright 2008 Venture| Publishing .
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at (L f()is
(A) 3ax+y=4 bf)f)‘f)eﬁjlcmﬁ% S/&ﬁb "/3 \7,,‘1"\ ﬁ{’p()() 9\7@ x-:,]

B) Ix+y=2 o«
© x-3y=-2 L (’ ) (1(2e-3) - X(c@ }zg-g/gx
(@ e-n=s 2 (23)° (2x~3)™

21. Anequation of the normal to the graph of f(x) =2 3
x —

uzp't/?r\"’”
"(E)x+3y=2 ?7 Y _3 -3
' .(l):(£~3)2 - >
N . s
. ‘ 1 sin = '."A":*"‘ -
mlt é /3 1“ {'(,) 2-3 ( )

Slope: m=3 35’*3 X =1
3»3.=m/><~>«> | =23

. '\ ‘j-” = é(X_T>; _. /)(__3 l,l; 3

22. Let f(x) = xInx. The minimum value attained by f is

@}1 ~vadie "
e KT ! deavactive 4“+ od dloninctive usi dﬁ ﬁmvmt m[a.
OO e lhmen(t)
P L= M
® - = pnx* (

(E) There is no minimum. _ ‘ '

-

»e/xta | 6 /r\é )

T

.. o oxe 1 _
i -
! . . :

|
4 -

o Je
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23. The slope field for a differential equation % = f(x,y)

33

AALLAALLAPTL AL NN
is given in the figure. The slope field corresponds to ARARRARRAR MARRRRARA
which of the following differential equations? QQQ&)&&EQ §§§§§§§§§

: ’-Jf : AN e
. . PP P P P P P A S P P P P P
X (A) Q=x+y %»CU[:A j?OJ Ax <0 /6//////// ///’/////9
NN T T
e dy_ 2 (XN
B) =y ¥ arnj<0) J)o SRR AR L e AR AR
v [ dy _ : . AX
Ol z=-> ST :
X @ L=¢-

% B Z=1-Inx

24.. The average value of sec? x over the interval 0 < x < % is

EE @;‘; © &

D)1 (E) none of the above

| L . ‘
& VJ%%M;M | A%Zgﬁxux z. 1ol = o ( )
| S |
e - 62 ‘ ' ' .\
e SRl [
S ﬁm"] ‘ - Asis
- _TEs T B

-

* 25. Suppose that g is a function that is defined for all real numbers. Which of the folowing
conditions assures that g has an inverse function? 77 .20 Lrmetron occuvs tullen ‘F[x’)

(A) g'(x) <1, forall x = can Aave i's mootoni ¢ : o
/aps ¥ ﬂe\].;/\);pg, .

@[g'(x) > 1, forall x — .a,(f(/w;;%m ;/,,‘N,

© g"(x)>0, forall x

D) g”(x) <0, forall x

(E) g is continuous.

oY

Copyright 2008 Venture Publishing




34 EXAM I Section I Part A Multiple-Choice '

26. The function fi is continuous and differentiable on the closed interval [1, 5]. The
table below gives selected valuesof fon this mterval Which of the following
statements must be TRUE?

x [1_[2 [3 |4 |5 .
fx) |13 |4 5 3 2
. I W A AL
X (A) f(x)>0 forl<x<3 ( =

X (B) f"(x)<0 for3<x<5

w (C) The maximum value of f on [1, 5] must be 5.

¥ (D) The minimum value of f on [1, 5] must be -2.

V'(E) There ex1sts a number ¢, 1 < ¢ <5 for which f(c)=0.

N Toae shue by TVT, $le)=o 4fe F(5)< Q(‘F(@

4

Ans

E -

2x
27. If the function G is defined for all real numbers by G(x) = j cos(t?) dt, then G'Wr)=
0

(A) 2 B)1 © o D) -1 E) 2

GI(XB“ “’f&os(ﬁ)(ft G,'(x): @S@XQJ‘.Q
/ v, _. 6)67?)¢Lo§(1,’/ﬁ:‘)2

Ax/’f(? A

5T rc/
A (0

= cos'(é?x) - = cos(Yn) = 'H(g) F :‘T

9 —Qx/a?vr ) -

Zc £ 4-) it @ At time ¢ a particle movmg along the x-axis is at-position x. The relatlonshxp between x

U

% and ¢ is givenby: #x = x> +8. At x = 2 the velocity of the partlcle is
A1
(B) 2
©) 6
D) 2
(E) -1

Mz

@

Copyright 2008 Venture Publishing
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EXAM II
CALCULUS AB
SECTION I PART B
Time-50 minutes
Number of questions-17

A GRAPHING CALCULATOR IS REQUIRED FOR SOME QUESTIONS ON
THIS PART OF THE EXAMINATION

Directions: Solve each of the following problems, using the available space for scratchwork. After examining
the form of the choices, decide which is the best of the choices given and fill in the box. Do not spend too much
time on any one problem.

In this test: . - :
(1)  The gxact numerical value of the correct answer does not always appear among the choices given. When this

happens, select from among the choices the numbeér that best approximates the exact numerical value.

* (2)  Unless otherwise specified, the domain of a function f is assumed to be the set of all real numbers x for
which f(x) is a real number. :

(3  The inverse of a trigonometric function f may be indicated using the inverse function notation f ! or with

| .
the prefix “arc” (e.g., sin x = arcsinx),

1. Which of the following functions‘ have a derivative at x = 0?

1.3 2.2 o . .
L y=+x+01-|x-1 e Lo M—ﬁ/yr&jm/o [N
& ) . o ) o )
Cos x

. (A) None (B) II only (O) I only (D). Il and III only (B) L IL III

L y=

Ans

=

&

2. Water is pumped into an empty tank at a rate of r(t) = 20¢%%% gallons per minute.

- Approximately how many gallons of water have been pumped into the tank in the first five
minutes? .

(A) 20 gal s ) :
®) 22 gal (AL = fo5 _
(C) 85 gal | 0 ( j %M :
(D) 105 gal

(E) 150 gal

Copyright 2008 Venture Publishing




36 | EXAM I SectionI Part B Multiple-Choice g:

3.  Consider the function f(x) = i x 5 for whlch f/(0) = 3. The value of a ;sX/ M,Z{ i

?W O Cﬁ*”"r

s + /x) C(atd)- x(0+33) -

2

3 C atx3 ) Cr

[O]2 G

® 1 £10)= éé‘ to) - {(°) (%”) Cr

| , A p L aQ+ r>) : G

3= Lo | b 4 a-2)=e i

a® 2 azo 2 Ans "

: 34 "élé’uvo J m @

(O] «

2
4. Which of the following is true about the function f if f(x) = 24'12—-— ? (X ') o
: , 2x° -5x+3 (2>< ),)()p_,) [

X 1. f iscontinuous at x =1. "

X II. The graph of f has a vertical asymptote at x = 1. ¥hol A x =) G

6/ III. - The graph of f has a horizontal asymptote at y = % Gw
(A) Ionly (B) I only ©lonly (D)OandIMlonly  (E) LII, IiI @ ‘

_ C

p 2 ,

P)e o2t L2l 4/ O

23543 % p2ext3y L& “r

Ans @m

5. Ify=u+2e"andu=1+Inx, ﬁnd%whenx:l
e i

: | /©f 2 ® 3
(A) e (B) 2e | 3e D) . (E) .

J = l+hnx =
djoe)(*.e() c[q "{e"f'geﬁ - &

1
IxT % [°
o/ i 1+fex( 1 - e+ 3‘.6‘6’{6‘
F=5 10 D
YAYA =€ t A€
A -+ Je (6(7%;) { y s
ﬁb‘x: = /6 | :3(._-3 C

Copyright 2008 Venture Publishing
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6. 7 Sand is being dumped on a pile in such a way thatit . = ~ graphof V. .
always forms a cone whose base radius is always 3
times its height. The function V whose graph is
sketched in the figure gives the volume of the

conical sand pile, V(z), measured in cubic feet, after

h
a

H
a

ul
\

[
a

V (cubic feet)

a

' I t minutes. (V(t) = — nrzh) At what approx1mate

' l& 3 rate i the radius of the base changing after 6 T e ©
mes? () s g,s Ml 3= LT

(A) 0.22 ft/min (B) 0.28 ft/mm (C) 0.34 ft/mln (D) 0.40 ft/min (E) 0.46 ft/min

)5
J'/ a r, “TT 9 ‘
_T,3 [ AT TR () i | Ans
T T = 176\/34);& | A

7. A graph of the function f is shown at the nght graph of f
Which of the followmg statements are true? A R

V'L F© > £3) £3)<0o

2" 7 — O
‘/H. j Fx) dx > f'(3.5) =7 (5.5)
v g £72) >f£02.5)
. fQR+h)-f(2) _ fQ2.5)-f(2) R S T S
I11. I}E)I:) 7 > ) i ‘ C 2 3

Lol I

‘(A) Ionly (B) ITonly (C) IandIIonly (D) II and III only z E) ;I, 11, IIT

Ans
E
N ) . _' _' . o v /\ ?C?
8. . Given: 5x* +40 = [ £@ dr. The value of a s FO X)"‘F( %)= 5x4 4_0

®) 2 |

©1  5x"= £(x)

@ - X. 15x7 5,3

E) 0 , — - =

® 5X3+403J}§XQ6&< 3 s
,{.‘..

Copyright 2008 Venture Publishing
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[n? 2 ” v ~
\/: ¥/a . 2 - Ans V;”’
'"[0 [6 ] -Ta]de < l63an =[5 122]  [A =
2 o
10. If:iix f.s_"_‘_(f__). then y could be J}ﬂ? j‘XSM(X )AX / .
i . — L0 el T

' : L.,/ U=x 2 @ |
{ (A)l 2 = cos(x?) ‘ : %;: = ECOS(X"Q) +tC = A 2 o
» - , 1 . ..}'
(B) 2 - cos(x?) | ‘\l)? 4% ‘zfs, Ak o
(©) 2 - cos(x?) 9= -cos(x*) T C \d’“’%‘ o
, - o
(D) cos(x?) - , ~ S Ez ‘
77
E) v2-cosx Q@
. p
Ans -
A o
' -
11. If y=sinu, u v-— and v=Inx, then value of di at x=e is b <
@wo Ay pusvet e ] -
o ek (3) Tae vk " =
! | e T I v _ o
e d i de 1 1 /1y e & v
(@ e P elegle v
E - 1.2 v
(E) cose ‘;E &,_é_*g;_. —
| | “ -
A Ans vZ
0 -
Copyright 2008 Venture Publishing /\/ ),—_
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Let R be the region in the first quadrant enclosed by the lines x =In3and y =.1 and the
graph of y = €*'2. The volume of the solid generated when R is revolved about the

line y = ~1is / R(X) _ */z_(‘. ,‘) X (
(A) 5.128 =€ e
B) 7717 =t
€) 12845
®) 15482 (v
(E) 17.973

¥ WA sher Mé‘ﬂw&

I E ¢




Calculators : EXAM I Section ] Part B 39

12.- The area of the region bounded by the graphs of y = 2~ |x —3|and y. = x> - 2x is. -

I(A) 1.86 (B) 1.88 €19  ©®192 . (B 19%
| w6l -
. ; . ;4
-] 2 , 7/
Area= | '-(K;p?x}:z[l.ﬂé){
0.5¢> .
=\ L=(X-3) = -x+5 L, X >3
4(X- = X = | :
‘Q(3),XIJ>(<3 Ans
13." The figure shows the graph of f’, the graph of the derivative of f
derivative of a function f. The domain of f 3
~ isthe interval 4 < x < 4. Which of the 4 i f
following are true about the graph of f? //;Zf !
_ , _ ¢ T . :
X I. Atthe points where x = -3and x =2 2 PIONE H P2 4
there are horizontal tangents. ' ‘ ‘ . \
-2
l/ II. ‘At the point where x =1 there i is arelatlve RN R
minimum point. =~ - T :

v’ Il At the point where x = -3 there is an inflection point.
(A) None (B) Ilonly (C) III only (D) 11 and III only (E) LILIII

B Y VoY L
- - 4+ - XR@/ Min a)(‘):(:_f
S-/Dﬂfbe, ‘5(‘754 VZILQ,’Q‘V'C — jx Sl é“#’  Sime ’r)&ﬂ—dﬁu DZ/OW\“"ILQ‘)'»

-4 =3 ) L
u Y , .
- — T oA x=-3 s
%MMS]%/&%'F {*’: A ¥ P ) ve 2, slec
gf - =] -l 2 4y + C/ﬁdw ZY‘U"CQ vy o
Ans
O
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14. A differentiable function fhas the property that f(3)=5 and f’(3)=4. What is an estimate
for f(2.8) using the linear appoximation for fat x = 3? (\} -

wes Pt nt: ( 3 5 o |

(B) 5.8 sloper m=4 @
(© 5.0 8 .

@4.2

® 34 j -5=l(x-3) O

o
N>
EXAM I Sectionl PartB " Multiple-Choice e |
Gﬂl
-

| j: 4-(x -3)&’5 e |

" j(é&«?)-ﬁi 4(28-3)+5
~ 4&2[

=
3

“ -~ Ans
15.  The number of bacteria in a culture is given by N(z) =200In(£* + 36), where ¢ is measured
in days. On what day is the change in growth a maximum? —> Lotk R Loz y o/
, | r
) 4 {(B))s ©s @i - ®i2 . V)=

™
)

-

A 00 = AL = oot
)= s( L2434

Nle)= O

nan

AR

© g

P . : )
: Copyright 2008 Venture Publishing /\/ E-




Calculators v EXAM II SectionI Part B ' 41

16. The acceleration of a particle at time ¢ moving along the x-axis is given by: a = 4e*.
At the instant when ¢ = 0, the particle is at the pomt x = 2 moving with velocity v = -2,

The position of the particle at t= % is
A) e-3 B) e- 2 (C)e—l D) e E) e+1

YR \Jw
V['t) f#@z-tcfﬁ Au 2 e ‘1 e
\L\JL jlf‘ € - ‘s <= 0?6, e -
v[t Q@ + C (x’(é)-“— e -0+C

2(0) e 2= 14C
O T ofactan TS
—2=7e+ C | x(¢)= e 4t
4 . X&) - eat_lljzéff C Pz(/) e~ 2% :{e-l]
R C; |

17. The graphof f’, the derivativeofa .. - the graph of f”
function f, is shown at the right. The graph PN -
of f, ’, has a horizontal tangent at x = 0.

Which of the following statements are true
about the functlon f? ‘

I. fis mcreasmg on the intert/al (—2 -1).
II. .f has an inflection point at x = 0. .
X IIL Jf is concave up on the interval (-1, 0)

(A) Ionly (B) I only (C) m only i (Di I'and IT only (E) II and,[II only
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